1002909-EN-02

PSEN op Protective Column 2-4/1

Operating Manual

General

Overview

PSEN op Protective Column 2-4/1 is a column made of aluminium
and a base plate made of steel. The base plate consists of 2 plates
that can be adapted to the ground.

Deviation mirrors are already installed in the protective column.
They can be aligned independently of each other.

Features

Protects the installed deviation mirrors from accidental shock and
collisions.

One-piece profile made of coated aluminium with various lengths,
matching all height of PSEN op 2/4B (500 — 1200 mm).

Robust base plate consists of 2 plates, with pins for
compensating unevenness (levelling) and slot holes for angular
adjustment.

Spherical spirit level for easier level alignment.

Typical application areas

The accessories of PSEN op Protective Column 2-4/1 are
particularly suited for environments where vehicles such as forklifts
or automated guided vehicles can move freely.

Pilz GmbH & Co. KG, Felix-Wankel-Stralle 2, 73760 Ostfildern, Germany
Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de Original document


mailto:pilz.gmbh@pilz.de

1002909-EN-02

PSEN op Protective Column 2-4/1
Operating Manual

<

/!

&L

Fig. 1
In case the product is used for body protection the specifications of the directive EN
ISO 13855 "Positioning of safeguards with respect to the approach speeds of
NOTICE parts of the human body" must be observed.

Pilz GmbH & Co. KG, Felix-Wankel-StraRe 2, 73760 Ostfildern, Germany
Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de Original document


mailto:pilz.gmbh@pilz.de

o
1002909-EN-02 DI|Z

PSEN op Protective Column 2-4/1
Operating Manual

Assembly

The profile of PSEN op Protective Column 2-4/1 is supplied with
pre-installed deviating mirrors and does not require mechanical
installation.

Levelling and angular adjustment of the plates

The grooves on the base plate are used to define the required angle
position. Tighten the slot holes on the bottom plate with the screws
M10 on the floor (not entirely). Slightly loosen the counter nuts on
the top plate and align any unevenness using the spirit level. Then
fix the screws M10 completely. Finally, check again whether the
protective column is straight, readjust if necessary and tighten the
counter nuts again (Fig. 2).

Slot holes for
bottom screws

Spirit level

Fig. 2

Pilz GmbH & Co. KG, Felix-Wankel-Stralle 2, 73760 Ostfildern, Germany
Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de Original document


mailto:pilz.gmbh@pilz.de

o
1002909-EN-02 DIIZ

PSEN op Protective Column 2-4/1
Operating Manual

m Installing the PSEN op Protective Base/1 accessories

Screw the additional plate to the floor and mount the 3 springs on
the spacers. Fix the protective column with the base plate so that
the slot holes of the bottom plate are right above the springs. Insert
the screws M10 together with the washers (PSEN op Protective
Base/1 accessories) into the slot holes and compress the 3 springs
equally when affixing the screws (Fig. 3). Align the protective
column as described in "Levelling and angular adjustment of the
plates".

The optimum working height of the springs (distance between base
plate and additional plate) is ca. 42 mm.

Fig. 3

Pilz GmbH & Co. KG, Felix-Wankel-Strale 2, 73760 Ostfildern, Germany
Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de Original document


mailto:pilz.gmbh@pilz.de

1002909-EN-02

PSEN op Protective Column 2-4/1
Operating Manual

Aligning the deviating mirrors

To adjust the height of the deviating mirrors loosen the screws
M5x12 and position the deviating mirrors in the protective column as
required. Then tighten the screws again. If the protective column is
in vertical position, make sure that the deviating mirrors do not slip
downward.

The 3 screws M4x20 are used to level the deviation mirrors (Fig.4).

Screws M8x12
Screws M4x20
Screws M8x12 4
&
Fig. 4
Pilz GmbH & Co. KG, Felix-Wankel-StraRe 2, 73760 Ostfildern, Germany

Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de Original document


mailto:pilz.gmbh@pilz.de

1002909-EN-02

PSEN op Protective Column 2-4/1
Operating Manual

Use of a deviating mirror reduces the effective operating range by
about 15%. This percentage increases further when using two or
three deviating mirrors.

In the table below the operating ranges are indicated, based on
the number of the mirrors used.

Number of mirrors Operating range | Operating range
Without mirror 6m 19 m

1 51m 16.5m

2 43m 13.7m

3 3.7m 11.6m

Installing PSEN op Protective Column 2-4/1 with PSEN op Mirror/1

Transmitter

Receiver

deviating
mirrors

deviating
mirrors

Fig. 5

Define the area to be protected and the exact positions where the
deviating mirrors, the transmitter and receiver units of the light
curtain are to be installed. The "Order reference" table combines
the recommended pairs of product and corresponding accessory.

Fix the PSEN op Protective Column 2-4/1 on the floor in the
required position. When using an additional plate (PSEN op
Protective Base/1) perform the installation as described in the
"Installing the PSEN op Protective Base/1 accessories" section.

n Pilz GmbH & Co. KG, Felix-Wankel-StraRe 2, 73760 Ostfildern, Germany
Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de Original document


mailto:pilz.gmbh@pilz.de

1002909-EN-02

PSEN op Protective Column 2-4/1

Operating Manual

Align the deviating mirror to ca. 45° to the optical path. PSEN op
Protective Column 2-4/1 allows regulation around the vertical axis
by +/- 5° (s. section "Levelling and angular adjustment of the
plates").

Position the laser pointer at the upper part of the transmitter unit
and align the unit so that the laser beam is horizontal in the
middle of the first deviating mirror. The height of the laser pointer
and the height where the pointer hits have to be identical.

Repeat the procedure and align the laser pointer at the bottom
part of the unit. Repeat these steps several times, if necessary.

Align the first deviation mirror so that the laser beam hits the
second deviating mirror in the position described before.

The laser pointer has mechanical tolerances when combined with PSEN op

Protective Column 2-4/1. The tolerances can be compensated by levelling and

angular adjustments of the protective columns and the laser pointer. Do not
NOTICE compensate the tolerances by changing the deviating mirror position.

Pilz GmbH & Co. KG, Felix-Wankel-Stralle 2, 73760 Ostfildern, Germany
Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de Original document


mailto:pilz.gmbh@pilz.de

1002909-EN-02

Operating Manual

Order reference

PSEN op Protective Column 2-4/1

PSEN op Protective Column 2-4/1

springs

Product type Description Order no.
PSEN op Protective Column 2-050/1 | Protective Stand 2 mirror H500 630961
PSEN op Protective Column 3-080/1 | Protective Stand 3 n mirror H800 630962
PSEN op Protective Column 4-090/1 | Protective Stand 4 mirror H900 630963
PSEN op Protective Column 4-120/1 | Protective Stand 4 mirror H1200 630964
Table of suitable light curtains
Product type Light curtain
PSEN op Protective Column 2-050/1 PSEN 0p2B-2-050
PSEN op4B-2-050
PSEN opSB-4B-2-050
PSEN op2B-3-080
PSEN op Protective Column 3-080/1 PSEN op4B-3-080
PSEN opSB-4B-3-080
PSEN op Protective Column 4-090/1 PSEN op2B-4-090
PSEN op4B-4-090
PSEN opSB-4B-4-090
PSEN op2B-4-120
PSEN op Protective Column 4-120/1 PSEN op4B-4-120
PSEN opSB-4B-4-120
The preceding table only includes the models of the PSEN op 2/4B ranges. The
PSEN op Protective accessories can also be used with the light curtains of the
NOTICE PSEN op 2/4xx ranges.
Accessories
Product type Description Order no.
PSEN op Protective Base/1 Double plate with compensation 630955

n Pilz GmbH & Co. KG, Felix-Wankel-StraRe 2, 73760 Ostfildern, Germany
Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de

Original document



mailto:pilz.gmbh@pilz.de

PSEN op Protective Column 2-4/1
Operating Manual
Dimensions
Base plate and additional plate:
-]
]
o
u
(#)]
O
Fig. 6
Pilz GmbH & Co. KG, Felix-Wankel-StraRe 2, 73760 Ostfildern, Germany “

Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de Original document


mailto:pilz.gmbh@pilz.de

1002909-EN-02

PSEN op Protective Column 2-050/1

PSEN op Protective Column 2-4/1
Operating Manual

400

500

75

300

300 ,

300

300

Pilz GmbH & Co. KG, Felix-Wankel-Strake 2, 73760 Ostfildern, Germany
Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de

Original document



mailto:pilz.gmbh@pilz.de

1002909-EN-02

PSEN op Protective Column 2-4/1
Operating Manual

PSEN op Protective Column 4-120/1

1600

300 400 400

400

1715,9

Pilz GmbH & Co. KG, Felix-Wankel-Stralle 2, 73760 Ostfildern, Germany

Telephone: +49 711 3409-0, Telefax: +49 711 3409-133, E-Mail: pilz.gmbh@pilz.de

Original document


mailto:pilz.gmbh@pilz.de


<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /All

  /Binding /Left

  /CalGrayProfile (None)

  /CalRGBProfile (None)

  /CalCMYKProfile (None)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Warning

  /CompatibilityLevel 1.4

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends false

  /DetectCurves 0.1000

  /ColorConversionStrategy /LeaveColorUnchanged

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams true

  /MaxSubsetPct 100

  /Optimize false

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments false

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts false

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Remove

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

    /ArialMT

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 150

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages false

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages false

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.40

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 150

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages false

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages false

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.40

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages false

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile (None)

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName (http://www.color.org)

  /PDFXTrapped /Unknown



  /CreateJDFFile false

  /SyntheticBoldness 1.000000

  /Description <<

    /FRA <>

    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)

    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>

    /PTB <>

    /DAN <>

    /NLD <>

    /ESP <>

    /SUO <>

    /ITA <>

    /NOR <>

    /SVE <>

    /DEU <>

  >>

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [595.276 841.890]

>> setpagedevice



